ADVANEX EUROPE LTD
TANGED COILTHREAD SPECIFICATION

METRIC
ISSUE LEVEL: 4
ISSUE DATE: 29-Jul-14
COMPLIED N WILSON gL
CHECKED: | MILLS NS NN
AUTHORISED: | HAIGH Feen Hooc
APPROVED: R NEWHAM K. Nezesll %
RECORD OF CHANGES
PART NO. / DESC. CHANGE ISS. DATE AUTH.
TNM14X2C-14 SIZE ADDED 2 25-Oct-12| IM
TNM14X2C-28 SIZE ADDED 2 25-Oct-12| IM
M5X ALL D's L&F OD ADJUSTED FROM 6.35-6.45 TO 6.30-6.40 3 20-Dec-13] M
M5X ALL D's L&F FIRST COIL C. ADJUSTED FROM 6.25-6.42 TO 6.15-6.37 3 20-Dec-13| IM
M8X ALL D's L&F FIRST COIL C. ADJUSTED FROM 9.50 - 9.73 TO 9.50 - 9.82 3 20-Dec-13| IM
M2.5 M3.5 M4 M5 TANG LENGTHS ADJUSTED TO MEET MA SPEC 4 29-Jul-14| NW
M6 M8 M10 M12 TANG LENGTHS ADJUSTED TO MEET MA SPEC 4 29-Jul-14] NW
M14 TANG LENGTHS ADJUSTED TO MEET MA SPEC 4 29-Jul-14| NW

0000195 ISSUE 4

CONTROLLED CDOCUMENT DO NOT COPY







TANGED COILTHREAD SPECIFICATION (METRIC)

1.0 X DIAM.
LOCKING ONLY

A B ¢ D ¥ PITCH K L | M | TORQUE (b -in)

LGTH MIN. [ MAX. [ 2025 MIN. [ MAX. [MinRe| MIN. | MAX. | MIN. | MAX. MIN. | MAX.| =1 MIN. [ MAX.

[M2.5x045] 25 | 330 [ 334 | 3375] 305 | 331 | 003 ] 20 | 100 [ 160 | 225 [ 0.05 | 042 | 050 [1.6875] 4 1 Jos31] 1947
IM3x05 | 3 | 390 | 394 | 375 | 3.60 | 3.80 | -0.03 | 20 [ 100 [ 1.95 [ 280 [ 0.05 [ 047 | 055 [18750] 4 | 1 Josss| 3804 ]
IM3.5%0.6 | 35 | 455 | 461 | 375 | 440 | 458 | 003 | 20 [ 100 [ 220 [ 3.00 [ 0.05 [ 056 | 064 [18750] 4 | 1 [ 106 [ 602 ]
IMax07 | 4 | s15] 522 ] 362 ] 505 519[-003[ 20 [ 100 [ 250 [ 355 | 0.05 [ 0.66 [ 0.76 [18125] 4 | 1 [1416] 7965 |
IMsx08 | 5 | 630 | 640 | 4.125] 615 [ 637 [ 003 ] 20 [ 100 [ 3.15 [ 455 [ 005 [ 076 | 086 [2.0625] 5 | 1 | 266 | 1416 |
IM6x1.0 | 6 [ 760 [ 775 | 4 | 740 | 772 [ -003 [ 20 | 100 [ 370 ] 485 [ 013 [ 096 | 1.07 [20000] 5 [ 1 [ 354 | 2655 |
IMsx125 | 8 [ 985 | 10.00] 45 | 950 [ 982 [ 003 20 [ 100 [ 475 ] 6.50 [ 015 [ 121 [ 129 [22500] s [ 1 [ 708 | s31 |
IM10x15 | 10 [ 1210] 1225 | 4875 [ 11.80 [ 1222 [ 0.03 | 20 [ 100 | 5.50 | 800 [ 023 [ 140 [ 1.60 [24375] 5 | 1 [ 1239] 88504 |
IMi2x175] 12 [ 1440 1460 5 [1410] 1457 -003 [ 20 [ 100 [ 670 [ 075 [ 028 | 170 | 1.87 [25000] 5 | 1 |19.471] 132.756 |
IMi4ax2 | 14 | 1665 ] 17.00 [ 5125 | 1640 | 1690 [ 0.03 | 20 [ 100 [ 720 [ 1125 031 [ 1.93 [ 2.12 | _ _ _ _ _
0000195 ISSUE 4 CONTROLLED DOCUMENT DO NOT COPY



TANGED COILTHREAD SPECIFICATION (METRIC)

1.5 DIAM.
LOCKING ONLY
A B C E F PITCH K L | M | TORQUE (b -in)
LGTH| MIN. | MAX. [ £0.25 | MIN. [ MAX. [MinRe] MIN. [ MaX. | MIN. | MaAX. MIN. [ MAX. | =1 MIN. [ MAX.
IM2.5 %045 3.8 | 330 | 334 [ 5625] 3.05 [ 331 | -003| 20 | 100 | 160 [ 225 [ 0.05 [ 042 | 050 [2.8125] 4 1 0531 ] 1947
IM3xo05 | 45| 390 [ 394 | 6375] 360 [ 380 [ 003 [ 20 [ 100 [ 195 [ 280 [ 0.05 [ 047 [ 055 [3.1875] 4 1 {0885 | 3894 |
IM3.5x06 | 53 | 455 [ 461 | 625 | 440 [ 458 [ 003 ] 20 [ 100 [ 220 [ 300 [ 0.05 | 056 [ 0.64 [3.1250] 4 1 [ 106 [ 602 ]
IMax07 | 6 | 515 | 522 [6125] 505 | 519 | 003 20 [ 100 [ 2.50 [ 355 [ 005 [ 066 | 076 [3.0625] 4 1 [ 1416 7965 |
IM5x08 | 7.5 | 630 | 640 | 6.875] 615 | 637 [ 0.03 [ 20 [ 100 [ 3.15 [ 455 [ 005 [ 076 [ 086 [3.4375] s 1| 266 | 1416 |
IM6x10 | 9 [ 760 | 7.75 | 675 | 740 [ 772 [ 003 | 20 [ 100 [ 3.70 [ 485 [ 0.13 [ 096 | 1.07 |3.3750] 5 1 | 354 [ 2655 |
IMsx1.25 | 12 | 985 | 10.00 | 7.375 | 9.50 | 9.82 [ -003 [ 20 [ 100 [ 475 [ 650 [ 015 [ 121 [ 129 [3.6875] 5 1 | 708 | s31 |
IMiox15 [ 15 [1210]1225] 8 11801222 -003 ] 20 [ 100 [ 550 | 800 | 023 | 1.40 | 1.60 |4.0000] 5 1 [ 1239 88504 ]
IMi2x 175 18 | 1440 ] 1460 | 825 [ 1410 [ 1457 [ -003 [ 20 [ 100 [ 670 [ 975 | 028 | 1.70 | 1.87 |4.1250] 5 1 |19.471] 132756 |

0000195 ISSUE 4

CONTROLLED DOCUMENT DO NOT COPY



TANGED COILTHREAD SPECIFICATION (METRIC)

2.0 DIAM.
LOCKING ONLY
A B C D E F PITCH K L | M |QUE@b-in

LGTH MIN. | MAX. [ 2025 | MIN. [ MAX. [MinRe| MIN. | MAX. | MIN. | MAX. MIN. | MAX. | =1 MIN. [ MAX.
IM25x045) 5 | 330 ] 334 | 8 [ 305|331 ] -003] 20 | 100 | 160 [ 225 [ 005 | 042 | 050 |4.0000] 4 1 o531 | 1947
IM3xo0s5 | 6 | 390 [ 394 | 8875 ] 360 | 380 | 0.03] 20 | 100 [ 195 | 2.80 [ 005 | 047 [ 055 [44375] 4 | 1 [o0885] 3804 |
M3sxo06| 7 | 455 | 461 | 875 [ 440 | 458 | 003 ] 20 | 100 | 220 | 300 [ 005 | 056 [ 064 [43750] 4 | 1 [ 106 | 602 |
IMaxo07 [ 8 | 515 ] 522 [8625] 505 | 519 | 003 | 20 | 100 [ 250 [ 3.55 | 0.05 | 066 | 076 [43125] 4 | 1 [1416] 7965 ]
IMsxo8 | 10 | 630 [ 640 [ 9.625] 615 [ 637 [ 003 ] 20 [ 100 [ 315 [ 455 [ 005 [ 076 [ 086 [48125] s [ 1 [ 266 1416 |
IM6x1.0 | 12 | 760 | 775 | 95 | 740 | 772 [ 003 | 20 | 100 | 370 | 485 | 013 [ 096 [ 107 [47500] 5 [ 1 [ 354 [ 2655 |
IMsx1.25 | 16 | 9.85 [ 10.00 [ 1025 950 | 9.82 [ 003 | 20 [ 100 [ 475 [ 650 [ 015 [ 121 [ 120 [sa2s0] 5 [ 1 [ 708 [ 531 |
IMiox 1.5 [ 20 | 1210 1225 11125 11.80 [ 1222 | 0.03 | 20 [ 100 | 550 | 800 [ 023 | 140 [ 160 [55625] s [ 1 [1239[ 88504 |
IM12x1.75] 24 [ 1440 | 1460 | 115 | 1410 | 1457 -003 | 20 [ 100 | 670 | 975 [ 028 [ 170 [ 187 [57500] 5 [ 1 [19471] 132756 |

1222 12.20
IMiax2 | 28 | 1665 | 17.00 | 11750 1640 | 1690 [ 003 | 20 | 100 [ 720 J 1125 031 [ 193 [ 212 | _ _ _ _ _

0000195 ISSUE 4 CONTROLLED DOCUMENT DO NOT COPY



TANGED COILTHREAD SPECIFICATION (METRIC)

2.5 DIAM.
LOCKING ONLY
A B c D E F PITCH K L | M | TORQUE (b - in)
LGTH MIN. | MAX. [ £0.25 | MIN. [ MAX. [Min Re| MIN. [ Max. | MIN. [ MaX. MIN. [ MaX. | =1 MIN. | MAX.
IM2.5x045] 63 | 330 | 334 [10375] 3.05 | 331 | -003 | 20 | 100 | 160 | 225 | 005 | 042 | 050 [63750] 4 1 o531 ] 1947
IM3x0.5 | 75 | 390 | 3.94 [11375] 3.60 | 380 | -003 | 20 | 100 | 195 | 2.80 [ 005 | 047 | 0.55 [6.9375] 4 1 |o0s885] 3804 |
IM3.5x0.6 | 88 | 455 | 461 [11.375] 440 | 458 | 003 ] 20 [ 100 | 220 [ 3.00 [ 0.05 | 056 | 0.64 [7.0000] 4 1 | 106 | 602 |
IMaxo07 | 10 | 515 | 522 [11125] 505 | 519 [ 003 ] 20 [ 100 [ 2.50 [ 3.55 [ 005 [ 066 | 076 [6.8125] 4 1 [ 1416 7965 |
IMsx08 | 125] 630 | 640 [12.375] 615 [ 637 [ 003 ] 20 [ 100 [ 3.15 [ 455 | 0.05 | 0.76 | 0.86 | 7.5630] 5 1 | 266 | 1416 |
IM6x10 | 15 [ 760 | 7.75 [12.125] 740 | 7.72 [ -003 ] 20 [ 100 [ 370 [ 485 [ 013 [ 096 | 107 [73750] 5 1 | 354 ] 2655 |
IMs X125 | 20 | 985 | 1000 [13.125] 9.50 [ 9.82 [ 003 [ 20 [ 100 [ 475 [ 650 [ 0.15 | 121 | 129 |8.0000] 5 1 [ 708 | s31 ]
IMiox15 [ 25 | 1210] 1225] 1425 11.80 [ 1222 [ -003 [ 20 [ 100 [ 550 | 800 | 023 | 1.40 | 1.60 | 8.6875] 5 1 [ 1230 88504 |
IM12x175] 30 | 1440 ] 1460 [14.625] 1410 [ 1457 [ -003 [ 20 [ 100 [ 670 [ 975 | 0.28 | 1.70 | 1.87 |8.8750] 5 1 [19.471] 132756 |

0000195 ISSUE 4

CONTROLLED DOCUMENT DO NOT COPY



TANGED COILTHREAD SPECIFICATION (METRIC)

3.0 DIAM.
LOCKING ONLY

A B C D E F PITCH K L | M |TORQUE (b - in)

LGTH| MIN. [ MAX. [ =025 | MIN. [ MAX. [MinRe| MIN. [ MaX. | MIN. [ MAX. MIN. [ Max. | =1 MIN. | MAX.

IM25x 045 7.5 | 330 | 334 [12652] 305 | 331 [ 003 | 20 | 100 | 160 [ 225 | 005 | 042 | 050 |86250| = 1 o531 1947
IM3x05 | 9 | 390 | 394 [13.875] 3.60 [ 380 [ 0.03 [ 20 [ 100 | 1.95 | 280 | 0.05 | 047 | 055 [94375] 4 | 1 ] 0885 3894 |
IM3.5x0.6] 105] 455 | 461 [1375] 440 [ 458 [ -003 [ 20 [ 100 [ 220 [ 3.00 [ 005 [ 056 | 064 [93125] 4 | 1 | 106 | 602 |
Maxo07 | 12 | 515 ] 522 [13.625] 505 [ 519 [ 003 20 | 100 [ 2.50 | 3.55 [ 005 | 0.66 | 076 [93125] 4 | 1 [ 1416] 7965 |
IMsx08 | 15 [ 630 [ 640 [15125] 615 [ 637 [ 003 ] 20 [ 100 [ 3.15 [ 455 [ 005 | 076 | 086 [103125] 5 | 1 [ 266 | 1416 |
IM6x10 | 18 [ 760 [ 7.75 [14875] 740 [ 772 [ 003 [ 20 [ 100 [ 370 | 485 | 013 | 096 | 107 J101250] 5 | 1 | 3.54 | 26.55 |
IM8x 125 | 24 | 985 [ 1000 [16125] 950 [ 9.82 [ 003 ] 20 [ 100 [ 475 [ 650 | 015 | 121 | 129 J1oooo] 5 | 1 | 708 | s3.0 |
IMiox1.5 | 30 [ 1210 [ 1225 [17.375] 11.80 [ 12.22] 003 [ 20 [ 100 | 550 | 800 | 0.23 | 1.40 | 1.60 |11.8125] w _ H | 1239 [ 88504 |
M12x1.75] 36 [ 1440 ] 1460 [17.875] 1410 [ 1457 [ 003 [ 20 [ 100 | 670 | 975 | 028 | 170 | 187 [121250] 5 | 1 [19471] 132.756 |

0000195 ISSUE 4

CONTROLLED DOCUMENT DO NOT COPY



TANGED COILTHREAD SPECIFICATION (METRIC)
NON STANDARD SIZES

COCKING ONLY _
A B C D E T PITCH K T M__JORQUE (ib - in)
[CENGTH | MIN.] MAX. | £0.25 | MIN, | MAX. [Min Re] MIN. | MAX. | MIN. | MAX. MIN, | MAX. | =1 MIN. | MAX. |
10D
M7 X 1.0 20° | 100° 0.10 5 1
M10 X 1.25 20° | 100° 0.13 5 I
MI2 X 1.25 | 14.40| 14.60 | 7.250 | 13.50 | 14.00 | -0.03 | 20° | 100° | 6.70 | 9.75 | 0.15 | 1.23 | 132 | 3625 | 5 T [19471]132.756
MI2 X 1.5 20° | 100° 0.25 5 T
MI6 X 1.5 20° | 100° 0.18 5 T
15D
M7 X 1.0 20° | 100° 0.10 5 1
M10 X 1.25 20° | 100° 0.13 5 1
MI2 X 1.25| 14.40| 14.60 | 11.625| 13.50 | 14.00 | -0.03 | 20° | 100° | 670 | 9.75 | 0.15 | 1.23 | 132 |58125] 5 T [19.471]132.756
MI2X 15 20° | 100° 785 5 1
M16 X 1.5 20° | 100° 0.18 5 1
20D
M7 X 1.0 20° | 100° 0.10 5 T
MT0 X 1.25 20° | 100° 0.13 5 T
MI2 X 1.25| 14.40| 14.60 | 15.875| 13.50 | 14.00 | -0.03 | 20° | 100° | 6.70 | 9.75 | 015 | 123 | 132 [7.9375] 5 T | 19471132756
MI2X 1.5 20° | 100° 0.25 5 1
MI6X 1.5 20° | 100° 0.18 5 1
25D
M7 X 1.0 20° | 100° 0.10 5 1
M10 X 1.25 20° | 100° 0.13 5 1
MI2 X 1.25 | 1440 14.60 | 20.250| 13.50 | 14.00 | -0.03 | 20° | 100° | 670 | 9.75 | 0.15 | 123 | 132 123125 5 T [19.471]132.756
MI2 X 1.5 20° | 100° 025 5 1
MI6 X 1.5 20° | 100° 0.18 5 1
3.0 D
M7 X 1.0 20° | 100° 0.10 5 1
MI0 X 1.25 20° | 100° 013 5 T
MI2 X 1.25 | 14.40| 14.60 | 24.500] 13.50 | 14.00 | -0.03 | 20° | 100° | 670 | 975 | 0.5 | 1.23 | 132 |165625| 5 T | 19.471]132.756
MI2X 1.5 20° | 100° 0.25 5 T
Mi6 X 1.5 20° | 100° 0.18 5 I

0000195 ISSUE 4 CONTROLLED DOCUMENT DO NOT COPY



